## CDBG (05-02) STORM DRAIN IMPROVEMENTS Bid Opening December 6, 2007

Engineers Estimate \$160,000.00

CONTRACTOR/CITY				D A WOOD	EMPIRE		DSS CKTON
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
1	MOBILIZATION & DEMOBILIZATION	1	LS	\$2,000.00	\$2,000.00	\$1,100.00	\$1,100.00
2	POTHOLING AND UTILITY LOCATION	1	LS	\$2,500.00	\$2,500.00	\$5,300.00	\$5,300.00
3	FURNISH & INSTALL NEW MANHOLE	9	EA	\$2,000.00	\$18,000.00	\$2,300.00	\$20,700.00
4	FURNISH & INSTALL NEW SADDLE MANHOLE	1	EA	\$2,800.00	\$2,800.00	\$2,900.00	\$2,900.00
5	FURNISH & INSTALL 12" STORM DRAIN PIPE	1,629	LF	\$32.00	\$52,128.00	\$30.00	\$48,870.00
6	FURNISH & INSTALL 15" STORM DRAIN PIPE	319	LF	\$25.00	\$7,975.00	\$35.00	\$11,165.00
7	TRENCH PAVEMENT (OVER AGGREGATE BASE)	5,844	SF	\$4.50	\$26,298.00	\$5.00	\$29,220.00
8	SURVEY STAKING	1	LS	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900.00
9	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$2,000.00	\$2,000.00	\$17,800.00	\$17,800.00
	TO	TAL BAS	E BID		\$115,701.00		\$138,955.00

## CDBG (05-02) STORM DRAIN IMPROVEMENTS Bid Opening December 6, 2007

Engineers Estimate \$160,000.00

CONTRACTOR/CITY					CHERT CKTON	DELTA EXCAVATION ANTIOCH	
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
1	MOBILIZATION & DEMOBILIZATION	1	LS	\$5,500.00	\$5,500.00	\$3,000.00	\$3,000.00
2	POTHOLING AND UTILITY LOCATION	1	LS	\$2,045.00	\$2,045.00	\$300.00	\$300.00
3	FURNISH & INSTALL NEW MANHOLE	9	EA	\$2,000.00	\$18,000.00	\$3,900.00	\$35,100.00
4	FURNISH & INSTALL NEW SADDLE MANHOLE	1	EA	\$3,000.00	\$3,000.00	\$5,800.00	\$5,800.00
5	FURNISH & INSTALL 12" STORM DRAIN PIPE	1,629	LF	\$34.00	\$55,386.00	\$28.00	\$45,612.00
6	FURNISH & INSTALL 15" STORM DRAIN PIPE	319	LF	\$28.00	\$8,932.00	\$33.00	\$10,527.00
7	TRENCH PAVEMENT (OVER AGGREGATE BASE)	5,844	SF	\$6.87	\$40,148.28	\$7.75	\$45,291.00
8	SURVEY STAKING	1	LS	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00
9	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$9,775.00	\$9,775.00	\$2,000.00	\$2,000.00
	TO	TAL BAS	E BID		\$145,786.28		\$151,630.00

CDBG (05-02) STORM DRAIN IMPROVEMENTS

Bid Opening December 6, 2007

Engineers Estimate \$160,000.00

	CONTRACTOR/CITY		ONSTRUCTION /ATER	D J K CONSTRUCTION ANTIOCH			
ITEM#	EM # DESCRIPTION C		UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
1	MOBILIZATION & DEMOBILIZATION	1	LS	\$9,000.00	\$9,000.00	\$16,000.00	\$16,000.00
2	POTHOLING AND UTILITY LOCATION	1	LS	\$1,500.00	\$1,500.00	\$3,900.00	\$3,900.00
3	FURNISH & INSTALL NEW MANHOLE	9	EA	\$1,850.00	\$16,650.00	\$3,444.44	\$30,999.96
4	FURNISH & INSTALL NEW SADDLE MANHOLE	1	EA	\$2,400.00	\$2,400.00	\$9,110.00	\$9,110.00
5	FURNISH & INSTALL 12" STORM DRAIN PIPE	1,629	LF	\$42.00	\$68,418.00	\$44.51	\$72,506.79
6	FURNISH & INSTALL 15" STORM DRAIN PIPE	319	LF	\$45.00	\$14,355.00	\$59.56	\$18,999.64
7	TRENCH PAVEMENT (OVER AGGREGATE BASE)	5,844	SF	\$6.50	\$37,986.00	\$2.74	\$16,012.56
8	SURVEY STAKING	1	LS	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
9	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$5,200.00	\$5,200.00	\$1,500.00	\$1,500.00
	TO	TAL BAS	E BID		\$157,509.00		\$170,528.95

CDBG (05-02) STORM DRAIN IMPROVEMENTS

Bid Opening December 6, 2007

Engineers Estimate \$160,000.00

	CONTRACTOR/CITY		W P (DALE	J & M INC. LIVERMORE			
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
1	MOBILIZATION & DEMOBILIZATION	1	LS	\$3,000.00	\$3,000.00	\$5,720.00	\$5,720.00
2	POTHOLING AND UTILITY LOCATION	1	LS	\$5,500.00	\$5,500.00	\$3,375.00	\$3,375.00
3	FURNISH & INSTALL NEW MANHOLE	9	EA	\$2,100.00	\$18,900.00	\$2,800.00	\$25,200.00
4	FURNISH & INSTALL NEW SADDLE MANHOLE	1	EA	\$6,500.00	\$6,500.00	\$8,290.00	\$8,290.00
5	FURNISH & INSTALL 12" STORM DRAIN PIPE	1,629	LF	\$44.00	\$71,676.00	\$45.00	\$73,305.00
6	FURNISH & INSTALL 15" STORM DRAIN PIPE	319	LF	\$47.00	\$14,993.00	\$52.00	\$16,588.00
7	TRENCH PAVEMENT (OVER AGGREGATE BASE)	5,844	SF	\$8.00	\$46,752.00	\$5.47	\$31,966.68
8	SURVEY STAKING	1	LS	\$2,900.00	\$2,900.00	\$4,800.00	\$4,800.00
9	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$3,500.00	\$3,500.00	\$5,720.00	\$5,720.00
	TO	TAL BAS	E BID		\$173,721.00		\$174,964.68

### CDBG (05-02) STORM DRAIN IMPROVEMENTS

Bid Opening December 6, 2007 Engineers Estimate \$160,000.00

	CONTRACTOR/CITY		NSTRUCTION ITERS	GRANITE CONSTRUCTION STOCKTON			
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
1	MOBILIZATION & DEMOBILIZATION	1	LS	\$7,500.00	\$7,500.00	\$354.40	\$354.40
2	POTHOLING AND UTILITY LOCATION	1	LS	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00
3	FURNISH & INSTALL NEW MANHOLE	9	EA	\$2,800.00	\$25,200.00	\$3,000.00	\$27,000.00
4	FURNISH & INSTALL NEW SADDLE MANHOLE	1	EA	\$7,000.00	\$7,000.00	\$3,000.00	\$3,000.00
5	FURNISH & INSTALL 12" STORM DRAIN PIPE	1,629	LF	\$40.00	\$65,160.00	\$55.00	\$89,595.00
6	FURNISH & INSTALL 15" STORM DRAIN PIPE	319	LF	\$42.00	\$13,398.00	\$55.00	\$17,545.00
7	TRENCH PAVEMENT (OVER AGGREGATE BASE)	5,844	SF	\$7.50	\$43,830.00	\$8.90	\$52,011.60
8	SURVEY STAKING	1	LS	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00
9	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$18,664.00	\$18,664.00	\$1,500.00	\$1,500.00
	TO	TAL BAS	E BID		\$187,752.00		\$193,006.00

CDBG (05-02) STORM DRAIN IMPROVEMENTS

Bid Opening December 6, 2007

Engineers Estimate \$160,000.00

CONTRACTOR/CITY					PIPELINE INC. JBLIN	PRESTON PIPELINE LATHROP	
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
1	MOBILIZATION & DEMOBILIZATION	1	LS	\$2,520.00	\$2,520.00	\$15,000.00	\$15,000.00
2	POTHOLING AND UTILITY LOCATION	1	LS	\$7,818.00	\$7,818.00	\$7,000.00	\$7,000.00
3	FURNISH & INSTALL NEW MANHOLE	9	EA	\$3,186.00	\$28,674.00	\$3,000.00	\$27,000.00
4	FURNISH & INSTALL NEW SADDLE MANHOLE	1	EA	\$7,601.00	\$7,601.00	\$4,000.00	\$4,000.00
5	FURNISH & INSTALL 12" STORM DRAIN PIPE	1,629	LF	\$52.00	\$84,708.00	\$44.00	\$71,676.00
6	FURNISH & INSTALL 15" STORM DRAIN PIPE	319	LF	\$52.00	\$16,588.00	\$45.00	\$14,355.00
7	TRENCH PAVEMENT (OVER AGGREGATE BASE)	5,844	SF	\$6.00	\$35,064.00	\$7.00	\$40,908.00
8	SURVEY STAKING	1	LS	\$2,503.00	\$2,503.00	\$2,000.00	\$2,000.00
9	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$14,280.00	\$14,280.00	\$20,000.00	\$20,000.00
	TO	TAL BAS	E BID		\$199,756.00		\$201,939.00

### CDBG (05-02) STORM DRAIN IMPROVEMENTS

Bid Opening December 6, 2007 Engineers Estimate \$160,000.00

	CONTRACTOR/CITY		A NEVADA ARKS	ALLEN WAGGONER RIPON			
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
1	MOBILIZATION & DEMOBILIZATION	1	LS	\$7,502.00	\$7,502.00	\$3,723.00	\$3,723.00
2	POTHOLING AND UTILITY LOCATION	1	LS	\$4,000.00	\$4,000.00	\$5,939.00	\$5,939.00
3	FURNISH & INSTALL NEW MANHOLE	9	EA	\$4,000.00	\$36,000.00	\$3,871.00	\$34,839.00
4	FURNISH & INSTALL NEW SADDLE MANHOLE	1	EA	\$4,500.00	\$4,500.00	\$8,687.00	\$8,687.00
5	FURNISH & INSTALL 12" STORM DRAIN PIPE	1,629	LF	\$47.00	\$76,563.00	\$59.70	\$97,251.30
6	FURNISH & INSTALL 15" STORM DRAIN PIPE	319	LF	\$58.00	\$18,502.00	\$50.70	\$16,173.30
7	TRENCH PAVEMENT (OVER AGGREGATE BASE)	5,844	SF	\$10.00	\$58,440.00	\$7.50	\$43,830.00
8	SURVEY STAKING	1	LS	\$1,500.00	\$1,500.00	\$1,601.00	\$1,601.00
9	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$10,000.00	\$10,000.00	\$20,237.00	\$20,237.00
	TO	TAL BAS	SE BID		\$217,007.00		\$232,280.60

# CDBG (05-02) STORM DRAIN IMPROVEMENTS Bid Opening December 6, 2007

Engineers Estimate \$160,000.00

	CONTRACTOR/CITY		NSTRUCTION AMENTO	SUAREZ & MUNOZ HAYWARD			
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
1	MOBILIZATION & DEMOBILIZATION	1	LS	\$7,000.00	\$7,000.00	\$15,000.00	\$15,000.00
2	POTHOLING AND UTILITY LOCATION	1	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
3	FURNISH & INSTALL NEW MANHOLE	9	EΑ	\$5,000.00	\$45,000.00	\$5,500.00	\$49,500.00
4	FURNISH & INSTALL NEW SADDLE MANHOLE	1	EA	\$7,500.00	\$7,500.00	\$3,500.00	\$3,500.00
5	FURNISH & INSTALL 12" STORM DRAIN PIPE	1,629	LF	\$65.00	\$105,885.00	\$120.00	\$195,480.00
6	FURNISH & INSTALL 15" STORM DRAIN PIPE	319	LF	\$82.00	\$26,158.00	\$150.00	\$47,850.00
7	TRENCH PAVEMENT (OVER AGGREGATE BASE)	5,844	SF	\$7.50	\$43,830.00	\$4.00	\$23,376.00
8	SURVEY STAKING	1	LS	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00
9	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	ТО	TAL BAS	SE BID		\$257,873.00		\$354,706.00

### CDBG (05-02) STORM DRAIN IMPROVEMENTS

Bid Opening December 6, 2007 Engineers Estimate \$160,000.00

	CONTRACTOR/CITY	TALUS CONSTRUCTION DANVILLE			
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST
1	MOBILIZATION & DEMOBILIZATION	1	LS	\$21,746.00	\$21,746.00
2	POTHOLING AND UTILITY LOCATION	1	LS	\$5,667.00	\$5,667.00
3	FURNISH & INSTALL NEW MANHOLE	9	EA	\$5,709.00	\$51,381.00
4	FURNISH & INSTALL NEW SADDLE MANHOLE	1	EA	\$7,631.00	\$7,631.00
5	FURNISH & INSTALL 12" STORM DRAIN PIPE	1,629	LF	\$101.00	\$164,529.00
6	FURNISH & INSTALL 15" STORM DRAIN PIPE	319	LF	\$108.00	\$34,452.00
7	TRENCH PAVEMENT (OVER AGGREGATE BASE)	5,844	SF	\$9.00	\$52,596.00
8	SURVEY STAKING	1	LS	\$1,646.00	\$1,646.00
9	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$25,756.00	\$25,756.00
	TO	TAL BAS	E BID		\$365,404.00